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QUESTION 1

What are two benefits that virtual machines provide over physical machines? (Choose two.)
A. VMs with different operating systems can run on the same physical machine.

B. VMs can be isolated from one another on the same network switch.

C. VMs can access large Storage Area Networks (SANS).

D. VMs can be isolated from one another even on the same physical machine.

Correct Answer: AD

QUESTION 2

Which two roles allow an administrator to modify a virtual machine\\'s configuration? (Choose two.)
A. Administrator

B. Read-only

C. Virtual machine power user

D. Resource pool administrator

Correct Answer: AC

QUESTION 3

What does Distributed Power Management (DPM) do when workloads increase during peak times?

A. Migrates virtual machines to hosts to balance power consumption

B. Brings powered-down hosts back online

C. Brings powered-down virtual machines back online

D. Adds additional resources to DPM-enabled clusters to handle workload

Correct Answer: B

Explanation: VMware DPM is a function provided by DRS to reduce energy consumption during off peak times. When
enabled, DPM monitors the environment for activity on the cluster and will consolidate VMs to as few ESXi hosts as are
required to host the workloads and still satisfy availability constraints. After the workloads have been consolidated, DPM
shut downs hosts into standby mode.DPM automates and optimizes energy management in the datacenter, so that an

administrator can cut the power costs during off peak times of resource utilization. When utilization increases, DPM
automatically restarts the ESXi hosts that have been put into standby, thereby fulfilling the demand for resources.
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QUESTION 4

Which options are possible with Data Center Visualization? (Choose two.)

A. Virtual machines can be live migrated In the event of unplanned outage.

B. Virtual machines can share the sane hardware resources.

C. Virtual machines can easily migrate off of underlying hardware.

D. Virtual machines can share host resources without possibility of contention.

Correct Answer: AB

QUESTION 5

How does vSphere HA assist an administrator in the event of a host failure?

A. It uses vMotion to move affected virtual machines to a different working host.
B. It uses snapshots of virtual machines.

C. It creates virtual machines backups.

D. It restarts affected virtual machines on another working host.

Correct Answer: A
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